B:sM6FE3/10H) FEN BAEZFEK

H5E K £ EER | sanozE| ZRE = aEt
29 FH ok 1%k - 1,030 1,030 16,430
101 )13 R X - - -
102 J11 1 X — — —
138 HE e X — — —
142 By LA O - 3,100 3,100
212 #AH P O - 4,100 4,100
213 B &P X - - -
214 JeAt S X - - -
215 SR BX O - 4,100 4,100
231 T H ] X - - -
235 hnin L O - 4,100 4,100
9 Fil AR 1%k - 1,030 1,030 14,440
26 =il WD & 1%k - 1,030 1,030
31 K RE HEZ 1,020 3,100 4,120
35 515 B 1%k - 1,030 1,030
74 BK (EYNE 1%k - 1,030 1,030
136 NN TE O - 3,100 3,100
141 A BXR O - 3,100 3,100
6 HE 2= 1%k - 1,030 1,030 14,430
11 R b HEZ 1,020 3,100 4,120
22 RAI &R t=x 1%k - 1,030 1,030
28 FIR BEX 1%k - 1,030 1,030
41 H A5 HEZ 1,020 3,100 4,120
135 et BEx O - 3,100 3,100




frEEZ=EE (BiTH : SM6E3/810H) FmMER BEEHH
E |B&E0H| &S K % ER | mEdozE| BHR At Hit
NES |EEE 3 AfR B 1#% - 1,030 1,030 36,010

EISTE 4 =iz Bt FES 1,020 3,100 4,120
|IETE 5 THE PEEES 1% — 1,030 1,030
|IETE 7 A EJnw. 1% — 1,030 1,030
|IETE 8 HE Z= ER 1,020 3,100 4,120
EISTE 13 L 3P 1#% — 1,030 1,030
EISTE 14 B 1, 1#% — 1,030 1,030
EISTE 15 75 BRE 1#% — 1,030 1,030
EISTE 17 piifEd B 1#% — 1,030 1,030
EISTE 18 N ol B 1,020 3,100 4,120
EISTE 19 P il 1#% — 1,030 1,030
EISTE 25 =Ll DB 1#% — 1,030 1,030
EISTE 39 A SEES 1#% — 1,030 1,030
BIETE 40 & B ER 1,020 3,100 4,120
EISTE 43 & Bl 1#% — 1,030 1,030
R 139 i3 AR X - - -

K& 232 i KL x - - -

HER 233 (Sl Hh{E X - - -

K& 234 EHH & A O — 4,100 4,100
K& 236 S| EpN O — 4,100 4,100




frEEZ=EE (BiTH : SM6E3/810H) FmMER BEEHH
E |B&E0H| &S K % ER | mEdozE| BHR At Hit
BRI |E|IBTE 16 &S —3 1%k — 1,030 1,030 11,340

EISTE 21 RIFR i 2 1% — 1,030 1,030
EISTE 24 R = 1#% — 1,030 1,030
EISTE 27 W Lo 1#% — 1,030 1,030
|IETE 30 XE =S RJE — — -

|IETE 36 KT ¥ 1% — 1,030 1,030
|IETE 37 N D] wE 2 £k — 1,030 1,030
EISTE 38 J\H 508 1#% — 1,030 1,030
EISTE 76 Bk R 1#% — 1,030 1,030
e 121 RR S X — — —

R 122 N I8 P X — — —

B 123 4358 & O — 3,100 3,100
VIR 124 bun BE X — _ _

YR |EIEE 1 =& ERB ME 1,020 3,100 4,120 18,550

EISTE 2 s PN 1#% — 1,030 1,030
EISTE 10 HLH o 1#% — 1,030 1,030
EISTE 12 )1l ThE 1#% — 1,030 1,030
EISTE 20 A *A 1#% — 1,030 1,030
EISTE 23 AL REE 2 1% — 1,030 1,030
EISTE 32 Rl RE 1#% — 1,030 1,030
EISTE 33 A H & B 1,020 3,100 4,120
EISTE 34 AT = 1#% — 1,030 1,030
B 134 = H Bk O — 3,100 3,100
R 137 BE AR X - - -

B 140 IRAR i X - - -




EEZER (BTH:SM6E3A10RH) FFER TEZEHK

E |B&E0H| &S K % ER | mEdozE| BHR At Hit

EXE |9 117 Pk FFIE O — 3,100 3,100 3,100
R 118 AK B X — — —
S 303 =H XA X — — —
SR 310 TRk IS x - - -

ERE ||ETE 50 St K 2% - 1,030 1,030 9,290
|IETE 53 AR BEE 1#% — 1,030 1,030
|IETE 55 it/ Lk BR 1#% — 1,030 1,030
e 112 BBy Pt X — — —
B 125 SRS BEH O — 3,100 3,100
B 130 NI YhiE O — 3,100 3,100

KRR [EREE 54 1L e HER 1,020 3,100 4,120 12,320
R 107 & faak X — — -
B 108 RE TE O - 3,100 3,100
HER 217 =H [ERN X — - -
SR 341 INFT —1 O — 5,100 5,100

BEKX |\EIETE 44 AR H¥TF 1#% - 1,030 1,030 2,060
|IETE 52 =t Hk 1#% — 1,030 1,030




FEEE=EER (BTH SM6E3A10H) FER BEEZHE
e | BEOH| EFS K & wE |madozaE| EEE ait A&t

HHEKX |EIEE 45 PaAT L= 1% - 1,030 1,030 12,380
|IETE 47 RE R% 2 £k — 1,030 1,030
|IETE 59 /NN BEFE 1% - 1,030 1,030
|IETE 60 EE B 2 £k — 1,030 1,030
|IETE 61 5% EE#E 2 £k — 1,030 1,030
|IETE 75 JUAY 275 1% — 1,030 1,030
X 109 =% EEESES X — — —
X 113 LA AN X — — —
X 119 ic]zs] =% X — — —
e 126 HAt HMEF X — — —
e 131 ER ES)l O — 3,100 3,100
e 143 FIR & O — 3,100 3,100
IS 144 3 HRF R - - -
R 203 iR A X — — —
=B 204 i) =8 x - - -
R 243 # D& X — — —
S 302 PR L BF X — — —

KER | 201 AT FERER X — — — 16,400
HER 223 e yEEil O — 4,100 4,100
HER 237 7 H oo O — 4,100 4,100
HE 238 =% ’S O — 4,100 4,100
HER 239 LA [ O — 4,100 4,100
e 401 HE =ik X - - -

KA |FIER 106 HFE Rip O — 3,100 3,100 14,400
e 110 NI g7 O — 3,100 3,100
HER 222 B2F e O — 4,100 4,100
HER 240 LA yin O — 4,100 4,100




I EEEEE H:$M6%F3810H) BEH BT

g HEHODE H= Xz =

% S 307 & HEFRE 5,100 5,100

il 51 HFE & 1,030 1,030
57 EITT B 1,030 1,030
104 [Eajes Bk — —
105 IR Fx - -
111 PAN=: a 3,100 3,100




EEZEE (BTH SM6E3810H) FEMN BF&EZHK
g BEEOR| HS K % BR |zEnozE| ZHR At A&t
#AH BT 46 EH eSS 1#% — 1,030 1,030 28,780
BT 48 = £ 1#% — 1,030 1,030
EIETE 49 KFHF ) 1#% — 1,030 1,030
EIRTE 56 hE (=22 IR 1,020 3,100 4,120
EIRTE 63 =/ T IR 1,020 3,100 4,120
BT 64 & Bn B 1,020 3,100 4,120
E|IETE 70 AKX SIRT 1%k — 1,030 1,030
X 129 i BT O — 3,100 3,100
B 202 IR Ber R - - —
R 208 I BE O — 4,100 4,100
=B 224 E =E(3 X - - -
=B 225 NI (i X — — —
B 253 7 B— X — — —
S 301 1R Ui X — — —
S 304 HH FiE x - - -
S 306 =ik b X — — —
S 313 J11 e BE X - - -
S 333 L I X — — —
S 334 ANFY aX X - — —
S 348 +H =FF O — 5,100 5,100
S 354 AR HIT X — — —
S 364 A ESP X — — —
PuER 406 aH# ‘T X — — —
P9ER 419 28 1EFH X — — —
P9ER 423 R BEF X — — —
PuER 453 D i X - - -
P9ER 467 2% HEE X - - -
P9ER 468 fif) = x - - -




fFEEZEE (ETH - SM6E3/108) MER BEEHR
E | BEo®| &S E % #R |sEsozs| zEK | A &3t
TR |[EIEE 71 =H 53 1% — 1,030 1,030 1,030
HEx 250 )& = x — _ _
S 317 +MH EZ x — — _
SE 320 ENEE ==ppr/nfaz] x — — _
SE 330 i HF x — — —
PO 408 F R =4 x — — _
U B 422 ji=ava thT x — — _
U B 425 [ES % x — - _
PO g 438 A& AET x — _ _
o e 442 ay ESH x — — _
AZ B8 342 4 R N O — 5,100 | 5,100 5,100
24 362 —vE HESL x — _ _
XEH |EIEE 73 B K 1 4% — 1,030 1,030 1,030
HER 114  |Ceaza oo B2e— x _ _ _
e 127 N BF x — — _
SE 322 2Pl =it x — — _
SE 363 il i v X — — _
U B 420 FIBk BicF x — — _
PO g 469 HIl EET x — _ _




EEZEE (BTH SM6E3810H) FEMN BF&EZHK
g BEEOR| HS K % BR |zEnozE| ZHR At A&t
FEME |EEE 66 gt ER 1%k — 1,030 1,030 10,290
H|IEE 69 Fr =FK 1%k — 1,030 1,030
HIEE 72 =3 [EES 1%k — 1,030 1,030
FER 128 AR AETF X — — —
FER 132 =8 ¥ X — — —
FER 133 IR E¥ O — 3,100 3,100
=B 216 SR aX O — 4,100 4,100
=B 230 FH B=F X — — —
B 241 NE TE X - — —
S 321 ne BB X — — —
S 346 Eig) B X — — —
S 355 LM <1 X — — —
S 366 =H =] X — — —
PuER 409 E2EN] —X X — — —
P9ER 415 e ] IETIN X — — —
PuER 427 S H A+R X — — —
P9ER 441 Alg tHh=E X — — —
S = 207 B X — — — 6,200
S 318 = M¥ X — — —
S 360 gl [ X — — —
P9ER 432 5| & X — — —
PuER 434 = xED O — 6,200 6,200
P9ER 455 ] A B5 X - — —
PuER 459 s X X — — —




EAEEEE BTH:SM6E38100) FED ZETHR
E | BEo®| &S E % #R |sEsozs| zEK | A &5t
] |EEE 42 A eSS R 1,020 3,100 4,120 8,220

X 103 &M EHTF X — — _
HE 209 R#H nig X — — _
B 218 4H E X - — _
ey 221 Fh Gl X — — _
=HE& 229 aiE M O - 4,100 4,100
R 251 B FU S X — — —
HE 256 LA RF X — — _
B 331 B8 A< Bid x - — _
B 337 i) E X - — _
S 358 B BT x — — _
PUER 424 R EETF x - — _
PUER 429 FH P& ) X - — _
PUER 431 == mE X - — _
PUER 452 v TR x - — _
e 463 = =T x — — _
PUER 465 /IS a X - — _
5 ([BE 361 B 1B O - 5,100 5,100 11,300
PUER 454 Fl  XETF x - — _
PUER 460 RH BEREB O - 6,200 6,200




[FEEZEE (BTH - SM6E3810H) PFER BEEZHER
FilE | BE0WH| &S K % R |sEnozgE| BEE = At
mRH mIETE 67 B IK HERA HEZ 1,020 3,100 4,120 12,320
HER 120 BIK %58 X — — —
HEx 205 fo] Uy - X — — —
HER 220 KK P O - 4,100 4,100
K& 248 S ERT O — 4,100 4,100
2R 324 %ZH & x — — —
SR 329 A B x — — —
S 332 v iz X - - -
SR 335 A g7 x — — —
SR 336 1| i X — — —
2R 365 T R X — — —
U B 411 1L e X - - -
e mIETE 65 75 e e 2 £k - 1,030 1,030 8,230
R 116 )11 NS O - 3,100 3,100
K& 246 AIA X& X — — —
HER 254 = LV A O - 4,100 4,100
2R 316 IE = x — — —
S 339 faH 1= X — — —
SR 344 it & x — — —
2R 356 ZH 5ES X — — —
U B 402 A = X - - -
o B 439 #H E X - - -




EEZER (BTH SMW6E3A10H) FER BEEHK
R | BEOB| &S E % #R |sEsozs| zEK | A &3t
B |ERE 58 AH %7 1#& - 1,030 | 1,030 16,330
2 245 #0 FE x — — _
St 252 3 = x — — —
e 314 MA& & EY O - 5,100 | 5,100
S 319 RE IRE X — — _
B 323 B eSS x — — _
B 338 hE BT x — — _
B 340 A HEE x — — _
el 345 R WF O - 5,100 | 5,100
SR 349 ESN G X — — —
S 350 BR s a/R X — — —
el 352 FRAY HIR O - 5,100 | 5,100
B 353 = NF X — — _
PuER 410 M (d X — — —
PuER 428 *TE pE—BB X — — —
PHEX 430 1] mT X — — _
PHEX 435 BRIl BEE X — — _
PHEX 437 AR EBRT X — — _
PuER 447 Pl BT X — — —
PHEX 448 A = x — — _
PuER 449 T8 /N X — — —
PuER 450 A HR) X — — —
PHEX 451 S =E X — — _
PuER 457 A PR X — — —




hEEZEEERE (BTR :SME6E3/10R) FEHN BFEEEHH
rE | EEOD BS K % fBRE | mEnozE| BHER At &5t
2| 210 | H&®  mpE | x - - _ 6.200
S8 347 AR A X — — _
o 403 | EAH®H v O - 6,200 | 6,200
] 404 PN BF x — — _
o 405 =% e x — — _
o 416 =l iR= x — — _
] 417 BA  AETF x — — _
PUER 418 HEO s X — — —
= 426 R =4=:ES x — — _
o 436 X EBWT x — — _
PUER 440 SH i X — — —
PUER 443 FISRIR =7 X — — —
o 445 pii [ZES x — — -
PUER 446 RE BET X — — —
o 461 & Bt x — — —
o 464 =0 R x — — _




FEEZEE (BTH:SM6E3A10RH) FER FTEZHZK
e | BEOH| EFS K % BE |sasozE| FHE &5t &5t
I |[EIEE 62 ARF AR 1#% — 1,030 1,030 6,160
IRTE 68 =Y BT 1#% — 1,030 1,030
& 206 P[] =% O - 4,100 | 4,100
B 211 | AH £F x - - -
=B 226 Ak Ww3F | x - = -
=R 244 e R X - - -
£ 247 ZED) o x — _ _
£ 249 =P =7 x — _ _
R 255 FH H= x — — —
S 315 TR fi x — — —
S 325 s =T x — — —
S 326 Bl KA x — — —
S 327 &% ¥ X — — _
124 412 B ERF X — — —
PuER 413 NE tHhF X — — —
P9ER 414 £ BT X — — —
PuER 433 RE JiliESe g R — — —
PuER 444 S &7 X — — —
PuER 456 FHH =8 X — — —
PaER 462 75 EK x — — _
BhH | 115 = A7 O - 3,100 | 3,100 8,200
& 242 48 = x — — _
S 328 it Nd x — — _
S 343 WE e X — — —
S 351 FR 4 = O - 5,100 5,100
PaER 458 74 1% & x — — —




B:sM6FE3/10H) FEN BAEZFEK

H5E K £ EER | sanozE| ZRE = aEt
219 KB HRF O - 4,100 4,100 25,600
227 TH #F X - - -

228 = BF X — — —

305 A ERTF X - - -

308 TTH =1 O - 5,100 5,100

309 mE =X O - 5,100 5,100

311 =) BX X — — —

312 I H ?|wF O - 5,100 5,100

357 IR H FiE X - - -

359 & LF X — — —

407 aH BA X — — —

421 HE EX O - 6,200 6,200

466 R EE& X - - -




